BURKS Problem of the Week (Problem 23)
No If S*T*S*T = 0 does not imply that T*S*T*S = 0 

Prove by counter example:

[image: image1.wmf]In[1]:=

S

=

i

k

j

j

j

j

j

1

0

0

0

1

0

0

0

0

y

{

z

z

z

z

z

;

T

=

i

k

j

j

j

j

j

0

0

0

1

0

0

0

1

0

y

{

z

z

z

z

z

;

S

.

T

.

S

.

T

��

MatrixForm

T

.

S

.

T

.

S

��

MatrixForm

Out[3]//MatrixForm=

i

k

j

j

j

j

0

0

0

0

0

0

0

0

0

y

{

z

z

z

z

Out[4]//MatrixForm=

i

k

j

j

j

j

0

0

0

0

0

0

1

0

0

y

{

z

z

z

z


Therefore, not true.
